

#### 2014 Product Catalog and Price Guide

#### Why Choose Henrich?

We strive to understand the specific needs of our customers and then work to meet those needs with high quality products, delivered on time, and priced to give our

customers a competitive advantage in their industry.

#### The High Cost of Cheap Rubber Bands

Buying the cheapest rubber bands may make the Purchasing Department happy, but low quality rubber bands can really hurt your bottom line. Rubber bands that snap or pop off your products during shipping, leave behind a residue, or bleed color onto your wood can significantly reduce your profit margin.

**Bundling bands** created with our special Henrich formula will not bleed color, won't leave a residue, and are strong enough to provide a cushioned ride for bundles of lumber during shipping.

For more than 15 years, companies nationwide have been using Henrich **hinge bumpers** to protect prehung wooden doors from hinge damage during shipping.

The costs of buying Henrich Industrial Rubber Bands is low when you think about all of the profit you may lose out on with damaged products if you don't choose Henrich!

#### Our Products

- Anchor Bands
- Hinge Bumpers 3

Page

2

4

- Plastic Hinge Protectors 3
- Push-n-Lock Door Plugs 3
- Bundling Bands



When you are ready to order

just call toll-free 1-888-770-8530

or email sales@rubberdevelopment.com

(Pricing is subject to change without notice. Please call 1-888-770-8530 or email sales@rubberdevelopment.com for current pricing.)

# ANCHOR

#### Ideal Solution for Nurseries, Greenhouses, Floral Designers, Vineyards, & Landscapers

#### Gentle on Plants

As the plants or saplings grow, our anchor bands will expand with them without needing adjusting. This saves you time and labor costs.

#### Easy to Use

Unlike traditional tie methods, there are no frustrating and time consuming knots to tie. Quick and easy application with no tools needed.

#### **Environmentally Friendly**

These innovative, biodegradable rubber ties are designed to "breakdown" after 12 to 18 months, depending on the amount of UV exposure.

Anchor Band Pricing and Product Details							
Size	Product Number	Count Per Package	Price Per Package	Dimensions* (mm)			
Small	RDRB 108	2,485	\$33.75	40x3.5x1.5			
Medium	RDRB 109	1,905	\$33.75	70x3.0x1.5			
Large	RDRB 110	1,795	\$33.75	80x3.0x1.5			
Extra-Large	RDRB 111	1,445	\$33.75	100x3.0x1.5			

\* Dimensions: Lay Flat Length x Width x Thickness. Technical size specifications are: Small (size 11), Medium (size 17), Large (size 182), and Extra-Large (size 20). Anchor bands ship in 5 lb. packages. Minimum order for black anchor bands is one 5 pound package. Black anchor bands are \$6.75 per pound. For colors other than black, please call for minimum order requirements, lead time estimates, and pricing information.

Only \$6.75 per pound for black anchor bands \$6.75 per pound for black



### For More than Just Plants



#### Companies use them to

- ✓ tag & label products
- $\checkmark~$  secure cables and cords
- ✓ bundle items

## Our customers come from a wide range of industries....

**Electronic Companies** 

**Dry Cleaners** 

**Public Relations Firms** 

...just to name a few

To order call 1-888-770-8530 or email sales@rubberdevelopment.com

# HINGE BUMPERS

- $\Rightarrow$  Protects the hinge, door, and frame
- ⇒ Will <u>NOT</u> stain wood, metal, or plastic
- $\Rightarrow$  Easy to apply —set, stretch, and release
- ⇒ Custom sizes are available (call for minimum order requirements)





Hinge Bumper Pricing and Product Details								
Grade	Product Number	Count Per Carton*	Unit Price	Price	Volume Discounts			
Heavy Duty	HB-1	1,325	\$0.12	\$159.00 per carton	10 or more cartons \$0.11 unit/\$145.75 carton			
Medium Duty	HB-2	2,050	\$0.075	\$153.75 per carton	10 or more cartons \$0.068 unit/\$139.40 carton			
Light Duty	HB-3	2,500	\$0.065	\$162.50 per carton	10 or more cartons \$0.056 unit/\$140.00 carton			

\* 25 pounds per carton. Lay Flat Length x Width x Thickness (dimensions in inches) are as follows: HB-1 (3x1.25x0.065). HB-2 (2.75x1.25x 0.045). HB-3 (2.75x1.25x0.037). The number of pieces per carton are approximate values. Part numbers by color: HB-1 Green (HRC 402), HB1-Blue (HRC 408), HB-2 Green (HRC403), HB-2 Yellow (HRC 404), HB-2 Blue (HRC 405), HB-2 Orange (HRC 406), HB-2 Red (HRC 407), HB-3 Yellow (HRC 501), HB-3 Green (HRC 502), HB-3 Blue (HRC 503), HB-3 Red (HRC 505), HB-3 Orange (HRC 506). Not all colors are always in stock. Please call for color availability and lead time estimates for special orders.

## **Other Henrich Products for Doors**

#### **Plastic Hinge Protector**

**Push-n-Lock Door Plug** 



Protector (PN: HRC-PHP-101) \$10.00 per 250 count package (\$0.04 unit price)

To order call 1-888-770-8530 or email sales@rubberdevelopment.com



- ✓ Protects doors & jambs
- ✓Installs in seconds
- ✓ Reusable
- ✓ Removes with twist of screwdriver
- ✓ Save time and money

Screw (PN: HRC-PNL-S) \$50 for 500 count package (\$0.10 unit price) \$90 for 1,000 count package (\$0.09 unit price)

Receptacle (PN: HRC-PNL-R)

\$65 for 500 count package (\$0.13 unit price) \$100 for 1,000 count package (\$0.10 unit price)

# **BUNDLING BANDS**

- Apply easily by hand or machine
- ✓ Use on wood, plastic or metal ✓ Holds for a year without leaving indentations, residue or stains
- ✓ Save time and money
- ✓ Provides cushion ride & holds product in place during shipping

Bundling Band Pricing and Product Details							
Product Number	Count Per Carton*	Unit Price	Price Per Carton*	Dimensions** (mm)			
HA-3	2,875	\$0.06	\$172.50	80 x 16 x 1.65			
HA-4	1,750	\$0.09	\$157.50	100 x 19 x 1.65			
HA-5	1,125	\$0.14	\$157.50	120 x 19 x 1.65			



\* 25 pounds per carton. The number of pieces per carton are approximate values. \*\* Dimensions = Lay Flat Length x Width x Thickness (mm). Part numbers by color: HA-3 Red (HRC 603), HA-4 Green (HRC 204), HA-5 Blue (HRC 206), and HA-5 Green (HRC 208). Not all colors are always in stock. Please call for color availability and lead time estimates for special orders.

## Contact Henrich



### Email: sales@rubberdevelopment.com

### Toll-Free: 1-888-770-8530

Henrich Industrial Rubber Bands Division **Rubber Development Inc.** 701 Technology Place Waverly, IA 50677

Office: (319) 352-5600

Fax: (319) 352-5601

Visit us online: www.rubberdevelopment.com

Prices are subject to change without notice. Please call or email for current pricing for your purchase orders. Henrich Industrial Rubber Bands is a Division of Rubber Development Inc.